
155(10) = 2^7 + 2^4  + 2^3 + 2^1 + 2^0 = 10011011(2)
10011011 - незаконно

156(10) = 2^7 + 2^4  + 2^3 + 2^2 = 10011100(2)
1001110
100111 - N - 39
10011

OTV: 156 - неправильно
39 - правильно

for N in range(1, 100):
   sum = 0
   temp1 = bin(5)
   dvoichnayaZipis = temp1[2:]
   print('1 punkt', temp1)

   zapisPoCifram = list(dvoichnayaZipis)
   for k in range(len(zapisPoCifram)):
       sum += int(zapisPoCifram[k])
   dvoichnayaZipis2 = dvoichnayaZipis + (sum % 2)
   print('2 punkt', dvoichnayaZipis2)

   sum = 0
   zapisPoCifram2 = list(dvoichnayaZipis2)
   for l in range(len(dvoichnayaZipis2)):
       dvoichnayaZipis3 = dvoichnayaZipis2 + (sum % 2)
   print('3 punkt', dvoichnayaZipis3)

   print("rezul'tat", int[dvoichnayaZipis3, 2])


